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REXS

{AB#HE (R) (1.000r 1.36)

&

1.36 [FEHMASHEBZH5E. INBHIE (R) THEBRERHLE




BRETRENFEE GL)IHBER)

1 2 3 4 5 6 10 11 12 15 16 17 18 19 20 N .
T B = H #ﬁ HATE | TR HATA TR | HERC | IATE |MERE tenEa WEA |naiese SR NEam AENT NEADA anes] D00 | R BRNE) 5

—RAEEBEANZEAR 0.000[  0.000] 0.000

B ABMHIER A*R

C imfE A% B (B1.k) PSEXE- 0 0

D T&A% B TfEIEEE 1H87Y 0 0

E e AR E CxD 0 0 0 0
BNESAETEBANEBHR 2.820] 2.820] 5640 6.280[ 1.620] 6.720

B AB##IER A*R 2.820] 2.820[ 7.670] 8541] 1620 9.139

CEfEA%k B (t].E) 3 3 8 9 2 10 PSEA=E 4 0 10

D T&E;H % H# il FBIEEE 8354| 8354] 8354] 8354] 8354 6,736 1B5f-Y 0 0

EREREEIRE C*D 25062] 25.062] 66,832 75.186] 16.708] 67.360 276,210 0 0] 276,210
HEH-ETEER|ANERE 0.000] 0.000] 0.000] 0.000] 0.000] 0.000

B ABMHIER A*R

C imfE A% B (B1.k) PSEXE- 0 0

D T&EA% H# i HEIERE 18%1Y 0 0

ERTEHERE C*D 0 0 0 0
FIEES ] ANERHK 0.000] 0.000[ 0.000[ 0.000[ 0.000] 0.000

B AB##IER A*R

CEfEA%k B (41.1) NE B 0

D T&E;H % H# il TRiEIE4E 18 572y 0

EHE AZERE C*D 0 0 0

HAEAEES HBIEEE 8,354| 8354 8354| 8354] 8354 6,736

T AE B 3G 3 3 8 9 2 10

FABG-HBETRBAEHEE I FABSETREE 12 B S/ UEE 834
5 = B e 0 Xl SAMY  BERBRE, RALLLIBRMEOREARTIH LT HILELT,

WEXS R

N=E:n3 1.36 MR BAHIE. COFRBTHIE




BB ETRENFEZ CROBHER)

1 2 3 4 5 6 10 11 12 15 16 17 18 19 20 N .
T B = H #ﬁ HATE | TR HATA TR | HERC | IATE |MERE tenEa WEA |naiese SR NEam AENT NEADA anes] D00 | R BRNE) 5

—RAEEBEANZEAR 0.000[  0.000] 0.000

B ABMHIER A*R

C imfE A% B (B1.k) PSEXE- 0 0

D T&A% B TfEIEEE 1H87Y 0 0

E e AR E CxD 0 0 0 0
BNESAETEBANEBHR 1410  1.410] 2.820[ 3.140] 0.810] 3.360

B AB##IER A*R 1.410] 1.410[ 2.820] 3.140] 0.810[ 3.360

CEfEA%k B (t].E) 2 2 3 4 1 4 PSEA=E 4 0 4

D T&E;H % H# il FBIEEE 8354| 8354] 8354] 8354] 8354 6,736 1B5f-Y 0 0

EREREEIRE C*D 16,708] 16.708] 25.062] 33.416] 8.354] 26,944 127,192 0 0] 127,192
HEH-ETEER|ANERE 0.000] 0.000] 0.000] 0.000] 0.000] 0.000

B ABMHIER A*R

C imfE A% B (B1.k) PSEXE- 0 0

D T&EA% H# i HEIERE 18%1Y 0 0

ERTEHERE C*D 0 0 0 0
FIEES ] ANERHK 0.000] 0.000[ 0.000[ 0.000[ 0.000] 0.000

B AB##IER A*R

CEfEA%k B (41.1) NE B 0

D T&E;H % H# il TRiEIE4E 18 572y 0

EHE AZERE C*D 0 0 0

HAEAEES HBIEEE 8,354| 8354 8354| 8354] 8354 6,736

T AE B 3G 2 2 3 4 1 4

[FABG-HBETRAEHEE I (RSETREE 1-3 3B S/ \UEE 834
5 = [FASG-RIGETXEEHES) (ﬁ%i@ﬁig% I-3 3R &R 0 Xl SAMY  BERBRE, RALLLIBRMEOREARTIH LT HILELT,

REXS
RBHEE

=izl
1.36 MR BT COFRYMTHIE




BH A =
BE#ANo 1 10X  |xoowvs| S5 [aneEEEZ SIS e
TiE [BEMEBF—X HOR/MMKX EHBRXD| 2 |24 TavsNe 58 EEME AE
EE B8R (%) i ] NEEAGE B =
B {fiNo % B & B = B BEm | & %2 | Eim| = %= P
3462\ HA L HRHPEE  |XREIE 150haXih 1.000| #X | 292,640 292,640| 273,400 273,400
3464[1BIRAIL SEEMERE (KR EFE 150haxk i 1.000 #8X | 757,779| 757,779] 692,675 692,675
3466 |mean wamirursssors 1.000| #1X | 416,736| 416,736| 416,736 416,736
3467|1EIRAL EAZEDERE 1.000| #1X | 511,353 511,353| 461,033 461,033
3468|EIHAL MEREBHIHE 1.000| #X | 771,100] 771,100 652,700 652,700
3469[1EIHALL EXSNETE 1.000| #h[X 94,946 94,946 94,946 94,946
347048 1HA1L BE 1.000| #1[X 93,548 93,548 93,548 93,548
AT1|EIEAL MESZDER 1.000| = 476,452|  476,452| 387,652 387,652
2252 [T & hiE RAEXET 2% 40 1.000| # 206,600/ 206,600 206,600 206,600
& 3,621,154 3,279,290
5 FIEEEE: TOMMEEE

341,864:




BH A =
BA#ENo 2 | 10 [xooowe| BH  |SHEERE BiLGME BEE
TiE [FEMEHF— L) E4A E£ERXD| 2 |rrTnumme 58 EEME AE
EE N8 3 (%) a ] NEEAGE & =
B {fiNo % B & B = B BEm | & %2 | Eim| = %= P
3462\ HA L HRHPEE  |XREIE 150haXih 1.000| #X | 292,640 292,640| 273,400 273,400
3464[1BIRAIL SEEMERE (KR EFE 150haxk i 1.000 #8X | 757,779| 757,779] 692,675 692,675
3466 |mean wamirursssors 1.000| #X | 416,736] 416,736/ 416,736 416,736
3467|E 1AL EAEEDEE 1.000| #1X | 511,353 511,353| 461,033 461,033
3468|EIHAL MEREBHIHE 1.000| #X | 771,100] 771,100 652,700 652,700
3469[1EIHALL EXSNETE 1.000| #h[X 94,946 94,946 94,946 94,946
347048 1HA1L BE 1.000| #1 X 93,548 93,548 93,548 93,548
H 2,938,102 2,685,038
5 FIEEEE: TOMMEEE

253,064:




BH A =
BA#ENo 3 | 10 [xooowe| BH  |SHEERE BiLGME BEE
TiE [FEMEHF— ILIIT4A E£BRD] 2 |rrrTnumme 58 EEME AE
EE N8 3 (%) a ] NEEAGE & =
B {fiNo % B & B = B BEm | & %2 | Eim| = %= P
3462\ HA L HRHPEE  |XREIE 150haXih 1.000| #X | 292,640 292,640| 273,400 273,400
3464[1BIRAIL SEEMERE (KR EFE 150haxk i 1.000 #8X | 757,779| 757,779] 692,675 692,675
3466 |mean wamirursssors 1.000| #X | 416,736] 416,736/ 416,736 416,736
3467|E 1AL EAEEDEE 1.000| #1X | 511,353 511,353| 461,033 461,033
3468|EIHAL MEREBHIHE 1.000| #X | 771,100] 771,100 652,700 652,700
3469[1EIHALL EXSNETE 1.000| #h[X 94,946 94,946 94,946 94,946
347048 1HA1L BE 1.000| #1 X 93,548 93,548 93,548 93,548
H 2,938,102 2,685,038
5 FIEEEE: TOMMEEE

253,064:




BH A =
BA#ENo 4 | 10 [xooowe| BH  |SHEERE BiLGME BEE
TiE [BEMEF—X CEYW E£BRD] 2 |rrrTnumme 58 EEME AE
EE N8 3 (%) a ] NEEAGE & =
B {fiNo % B & B = B BEm | & %2 | Eim| = %= P
3463| B HALL RHPEE  [sx@#HE 300hall 500hask i 1.000| #8X | 450,622| 450,622] 421,022 421,022
3465[1B1R/AIL SRR ERE [HR @ 300hakl E500haskil 1.000| #X | 1,164,915| 1,164,915/ 1,065,115 1,065,115
3466 |mean wamirursssors 1.000| #X | 416,736] 416,736/ 416,736 416,736
3467|E 1AL EAEEDEE 1.000| #1X | 511,353 511,353| 461,033 461,033
3468|EIHAL MEREBHIHE 1.000 #8X | 771,100] 771,100| 652,700 652,700
3469[1EIHALL EXSNETE 1.000| #h[X 94,946 94,946 94,946 94,946
347048 1HA1L BE 1.000| #1 X 93,548 93,548 93,548 93,548
g 3,503,220 3,205,100
&% FHBEEE TOMEE
298,120: 0




BH A =

BA#ENo 5 | 10 [xooowe| BH  |SHEERE BiLGME BEE
TiE [FERIHF—X CEL+RGE)D XS] 3 |xoTouone 58 EEE AE
BiE BN LR 188 5=(%) el AEEAGE o=
B {fiNo % B & B = B BEm | & %2 | Eim| = %= P
3040|E& ETETEI BRETETS 1.000| %t 53,044 53,044| 53,044 53,044
3041 |IRh A E RETETE 1.000] 44 149,296|  149,296| 149,296 149,296
3042 [ EEAREIHRES BRETETS 1.000] # 87,388 87,388| 87,388 87,388
3043 | /B ERER T RETETE 1.000| %t 229,260 229,260| 229,260 229,260
044 [ HMEFE BRETET 1.000] # 95,430 95430 95,430 95,430
3045| B & RETETE 1.000| %t 58,728 58,728/ 58,728 58,728
3046 |EZ ETERBAEVERL ERETETR 1.000 44 195,812| 195812 195,812 195,812

g 868,958 868,958
5 FIEEEE: TOMMEEE




BH A =

BA#ENo 6 | 10 [xooowe| BH  |SHEERE BiLGME BEE
TiE [(ERITIEE—X CESA(T) £HBX2] 3 |rrrTnusmme 58 EEME AE
BiE BN LR 188 5=(%) el AEEAGE o=
B {fiNo % B & B = B BEm | & %2 | Eim| = %= P
3040|E& ETETEI BRETETS 1.000| %t 53,044 53,044| 53,044 53,044
3041 |IRh A E RETETE 1.000] 44 149,296|  149,296| 149,296 149,296
3042 [ EEAREIHRES BRETETS 1.000] # 87,388 87,388| 87,388 87,388
3043 | /B ERER T RETETE 1.000| %t 229,260 229,260| 229,260 229,260
044 [ HMEFE BRETET 1.000] # 95,430 95430 95,430 95,430
3045| B & RETETE 1.000| %t 58,728 58,728/ 58,728 58,728
3046 |EZ ETERBAEVERL ERETETR 1.000 44 195,812| 195812 195,812 195,812

g 868,958 868,958
5 FIEEEE: TOMMEEE




BH A =

BA#ENo 7 | _ 10X |[xronvwa| S |HHEEE RGN E e
TiE |ILEIHREH—RK CESALE)Q EERXD| 3 |xrrTovmme 58 EHRE AE
EE | 1 5= (%) i ] NEEAGE & =
B {fiNo % B & B = B BEm | & %2 | Eim| = %= P
2814|3IF Hh R A 1.000[ = 285,700/ 285,700 285,700 285,700
2815| A AREERTE 1.000| = 187,760| 187,760 187,760 187,760
2816 | & EtHETE 1.000| = 165,080| 165,080 165,080 165,080
2821 FERE/ERK 1.000[ = 257,918 257,918| 198,718 198,718
2822 [¥8:& R 1ERK 1.000| = 300,534| 300,534| 241,334 241,334
2823|MEFE 1.000] = 114,902| 114,902| 114,902 114,902
2824|lBH& 1.000| = 87,318 87,318 87,318 87,318
2818|ERETERBAZE H1ER 1.000[ = 224400 224,400 224,400 224400

1,623,612 1,505,212
e FHBEEE TOMEE

118,400!




BH A =

BA#ENo 8 | 10 [xooowe| BH  |SHEERE BiLGME BEE
TiE [ERITH=—X CE+RE)D E£BRD] 4 |r1rToumme 58 EEME AE
EE N8 3 (%) a ] NEEAGE & =
B {fiNo % B B = B BEm | & %2 | Eim| = %= P
3350 AT ER IR IE R 200m 1.000f =X 15,221 15,221 14,292 14,292
3351 (A S ERAE ERER200m 1.000] = 61,727 61,727 57,960 57,960
3352|685 5 #it Bl = SERERE200m 1.000| = 29,716 29,716] 27,902 27,902
3354 |1 IE YIER B HE I ek B B A 1.000| = 52,444 52,444 49243 49,243
3355 | F mE BE{ERKA 1.000] = 12,351 12,351 12,168 12,168

g 171,459 161,565
&% FHBEEE TOMEE

0: 9,894

*



BH A =

BA#ENo 9 | 10 [xooowe| BH  |SHEERE BiLGME BEE
TiE [FRIITAZE—X CEsHNHX(F) E£BRD] 4 |r1rToumme 58 EEME AE
EE N8 3 (%) a ] ANEEAGE & =
B {fiNo % B % B = B BEm | & %2 | Eim| = %= P
3357 | AEER IR IE R 200m 1.000f =X 15,221 15,221 14,292 14,292
3358|F S L ERAE ERER200m 1.000] = 61,727 61,727 57,960 57,960
3359 |f5 S Mt Al = SRR IR 200m 1.000] = 29,716 29.716] 27,902 27,902
3361 | S YIER Bt T ek B B A 1.000| = 61,650 61,650 57,888 57,888
3362 | F m B{ERKA 1.000] = 12,351 12,351 12,168 12,168

& 180,665 170,210
&% FBEEE TOMEE

0: 10,455

*



BH A =

BA#ENo 10 | _ 10X |[xronvwa| S |HHEEE RGN E e
TiE (WETH=—X CE+RE)Q E£ERXD| 4 |r1rTnumme 58 ERME AE
EE | 1 5= (%) i ] NEEAGE B =
B {fiNo % B % B = B BEm | & %2 | Eim| = %= P
3450| B EES LI fE E#80.54ha 1.000| = 82,447 82,447 77415 77,415
51 [ZEILETFEAE LS E$50.54ha 1.000] = 304,314| 304,314| 285,741 285,741
3452124 LI S Hit B Hit B 3E K 80m 1.000| = 88,221 88,221| 82,836 82,836
3453 A2 | L g ERT A= T I 28 AE 1.000[ = 380,443| 380,443| 357,224 357,224
3454 | K{ERA 1.000] = 16,467 16,467 16,224 16,224
3460|F m K{ERB 1.000] = 41,168 41,168| 40,560 40,560

g 913,060 860,000
5 FIEEEE: TOMMEEE

0: 53,060




= REE?
=25 1 A B (i 3= i
M ES 3462 | = %l 58 HHRED| 3462 |mitmnmEEE
B4 |EIHAL R E 1-FNo YER D 1.00 ERRE | B RE ESTETAE J=E-T
# & [ NREE 150ha kil _ 1% B NERAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 0.480[ A 65,500 31,440 65,500 31,440 0.480| 31,440
2| EEHED R EHEEEREE 0.480] A 57,400 27,552| 57,400 27,552 0.480| 27,552
3| FEMA RIFZMTEHEEEREE 0.960] A 51,200 49,152 51,200 49,152 0.960| 49,152
4|3 EfB R EEEREE 0.960] A 40,600 38,976/ 40,600 38,976 0.960| 38,976
4|3ENB R EHEEEREE 0530 A 40,600 21518 40,600 21,518 0.000 0
5|HiEfiC RIFMTEEEREE 0.810] A 32,800 26,568| 32,800 26,568 0.810| 26,568
5|3EMC RIFMTEHEELEREE 0.430[ A 32,800 14,104| 32,800 14,104 0.000 0
ez =] RIEMTEEERLE 1.460] A 29,000 42,340 29,000 42,340 1460 42,340
6| FfiiE RIFMTEHEELEREE 0.750[ A 29,000 21,750 29,000 21,750 0.000 0
22| T R EEEREE 0.650/ A 29,600 19,240 0 0 0.000 0
i 292,640 273,400 5.150| 216,028
B fiff 1.0 #h[X L) 292,640
EEANE 273,400
ZTRMBEE 19,240
data| (f§%) XIRMEE 150hakii& 0.65
11




= REE?
2 21 18 Il B i 5= i
e 3463 | = 0 58 BRES| 3463 |EILOHEEE
B4 |EIHAL R E 1-FNo YER D 1.00 ERRE | B RE ESTETAE J=E-T
B & [XMREE 300hall E500hak i _ 12 B NERAGS B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 0.740] A 65,500 48,470| 65,500 48,470 0.740| 48,470
2| EEHED R EHEEEREE 0.740] A 57,400 42,476] 57,400 42,476 0.740| 42,476
3| FRETA RIFZMTEHEEEREE 1480 A 51,200 75,776 51,200 75,776 1.480| 75,776
4|3 EfB R EEEREE 1480 A 40,600 60,088| 40,600 60,088 1.480| 60,088
4|3ENB R EHEEEREE 0.820] A 40,600 33,292| 40,600 33,292 0.000 0
5|HiEfiC RIFMTEEEREE 1.2400 A 32,800 40,672| 32,800 40,672 1.240| 40,672
5|3EMC RIFMTEHEELEREE 0.660[ A 32,800 21,648 32,800 21,648 0.000 0
ez =] RIEMTEEERLE 22400 A 29,000 64,960 29,000 64,960 2.240| 64,960
6| FfiiE RIFMTEHEELEREE 1.160] A 29,000 33,640| 29,000 33,640 0.000 0
22| T R EEEREE 1.000] A 29,600 29,600 0 0 0.000 0
i 450,622 421,022 7.920 332,442
B fiff 1.0 #h[X L) 450,622
EEANE 421,022
ZTRMBEE 29,600
data (f§%) IR E 300hall E500hazkiE 1.00
11




= REE?
=25 1 A B (i 3= i
M ES 3464 = %l 58 HHRED| 3464 |mitmmEEE
Hifa% [(EIHAL RELERE 1-FNo YER D 1.00 ERRE | B RE e E A=
# & [ NREE 150ha kil _ 1% B NERAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 0.930] A 65,500 60,915/ 65,500 60,915 0.930] 60,915
1EE-BEE R3FMMTERERLE 0.980] A 65,500 64,190/ 65,500 64,190 0.000 0
2| E{EHED RIFZMTEHEEEREE 0.930] A 57,400 53,382] 57,400 53,382 0.930| 53,382
3|EMA R EEEREE 1.860] A 51,200 95,232| 51,200 95,232 1.860] 95,232
3| FEMA R EHEEEREE 1.950] A 51,200 99,840/ 51,200 99,840 0.000 0
4|3 EfB RIFMTEEEREE 2.180] A 40,600 88,508| 40,600 88,508 2.180| 88,508
4|3ENB RIFMTEHEELEREE 2930 A 40,600 118,958 40,600 118,958 0.000 0
ez =] RIEMTEEERLE 1.900] A 29,000 55,100/ 29,000 55,100 1.900/ 55,100
6| FfiiE RIFMTEHEELEREE 1.950 A 29,000 56,550/ 29,000 56,550 0.000 0
21| EB1EXE SH3EIAFHE 0.980] A 17,200 16,856 0 0 0.980| 16,856
22|HT R EHEEEREE 1.630 A 29,600 48,248 0 0 0.000 0
i 757,779 692,675 8.780] 369,993
B fiff 1.0 #h[X L) 757,779
EEANE 692,675
ZTRMBEE 65,104

data| (5#)
11

& mfE 150hazki® 0.65




= REE?
=25 1 A B (i 3= i
e 3465 = 0 58 BRES| 3460 |BILOHEEE
Hifa% [(EIHAL RELERE 1-FNo YER D 1.00 ERRE | B RE e E A=
B & [XMREE 300hall E500hak i _ 12 B NERAGS B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 1430 A 65,500 93,665/ 65,500 93,665 1.430] 93,665
1EE-BEE R3FMMTERERLE 1.500] A 65,500 98,250/ 65,500 98,250 0.000 0
2| FEHED RIFZMTEHEEEREE 1430 A 57,400 82,082 57,400 82,082 1.430] 82,082
3|EMA R EEEREE 2.860 A 51,200 146,432 51,200 146,432 2.860| 146,432
3| FRETA R EHEEEREE 3.000] A 51,200 153,600| 51,200 153,600 0.000 0
4|3 EfB RIFMTEEEREE 3.360] A 40,600 136,416/ 40,600 136,416 3.360| 136,416
4| EfB RIFMTEHEELEREE 4500 A 40,600 182,700 40,600 182,700 0.000 0
ez =] RIEMTEEERLE 2930 A 29,000 84,970/ 29,000 84,970 2.930] 84,970
6| FfiiE RIFMTEHEELEREE 3.000] A 29,000 87,000/ 29,000 87,000 0.000 0
21| EB1EXE SHIFEIAFE 1.500[ A 17,200 25,800 0 0 1.500] 25,800
22|HT R EHEEEREE 2500 A 29,600 74,000 0 0 0.000 0
B 1,164,915 1,065,115 13.510] 569,365
B fiff 1.0 #h[X L) 1,164,915
EEANE 1,065,115
ZTRMBEE 99,800

data| (5#)
11

W& mEFE 300hall E500hazkiEm 1.00




= REE?
=25 1 A B (i 3= i
e 3466 | = 0 58 BRES| 34066 |BILOHEEE
BB F |[EIRAL BRERFERVERSHDOEE 1-FNo B B 1.00 {ERK B (oL #h [ X AE BiirENEB#
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 1.370 A 57,400 78,638| 57,400 78,638 0.000 0
3|EMA R ERAEHE 2.740] A 51,200 140,288| 51,200 140,288 0.000 0
4|3ENB RIFZMTEHEEEREE 2.740] A 40,600 111,244 40,600 111,244 0.000 0
5|HiEfiC R ERAEHE 1.870| A 32,800 61,336/ 32,800 61,336 0.000 0
6| FfiiE R EHEEEREE 0.870] A 29,000 25,230| 29,000 25,230 0.000 0
B 416,736 416,736 0.000 0
B fiff 1.0 #h[X L) 416,736
EEANE 416,736
ZTDMIRE 0
data| (5#)
11




= REE?
=25 1 A B (i 3= i
e 3467 = 0 58 BRES| 3467 |ELOHEEE
Bl&# |EBIEAL EAEEORTE 1-FNo YER D 1.00 ERRE | B RE e E A=
B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 1430 A 65,500 93,665| 65,500 93,665 0.000 0
2| EEHED R ERAEHE 22301 A 57,400 128,002| 57,400 128,002 0.000 0
4|3ENB RIFZMTEHEEEREE 3.660[ A 40,600 148,596| 40,600 148,596 0.000 0
ez =] R ERAEHE 3.130[ A 29,000 90,770/ 29,000 90,770 0.000 0
22|HT R EHEEEREE 1.700f A 29,600 50,320 0 0 0.000 0
i 511,353 461,033 0.000 0
B fiff 1.0 #h[X L) 511,353
EEANE 461,033
ZTRMBEE 50,320

data| (5#)
11




= REE?
=25 1 A B (i 3= i
e 3468 | = 0 58 BRES| 3468 |ELOHEEE
Bima%s [(EIHAL MEEEETE 1-FNo YER D 1.00 ERRE | B RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 2.650] A 57,400 152,110| 57,400 152,110 0.000 0
3|EMA R ERAEHE 43001 A 51,200 220,160| 51,200 220,160 0.000 0
4|3ENB RIFZMTEHEEEREE 4.300] A 40,600 174,580 40,600 174,580 0.000 0
ez =] R ERAEHE 3.650[ A 29,000 105,850| 29,000 105,850 0.000 0
22|HT R EHEEEREE 4.000] A 29,600 118,400 0 0 0.000 0
i 771,100 652,700 0.000 0
B fiff 1.0 #h[X L) 771,100
EEANE 652,700
ZTDMhIEE 118,400

data| (5#)
11
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M ES 3469 | = %l 58 HHEED| 3469 |mitmmEEE
Hifa# [EIHAL EX=NERE 1-FNo YER D 1.00 ERRE | B RE ESTETAE J=E-T
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
4|3ENB RIFMTEHEEEREE 1460 A 40,600 59,276] 40,600 59,276 0.000 0
ez =] R EHEEEREE 1.230] A 29,000 35,670/ 29,000 35,670 0.000 0
i 94,946 94,946 0.000 0
B fiff 1.0 #h[X L) 94,946
EEANE 94,946
ZTRMBEE 0
data| (5#)
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fREEL
L
M ES 3470 | = %l 58 HHES| 3470 |mitmmEEE
Hifa%s [EIHAL BE J1-FNo ER > £ 1.00 ERRE | B RE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i Z %8
2| E{EHED RIFMTEHEEEREE 0.880[ A 57,400 50,512| 57,400 50,512 0.000 0
4|3 EfB R EHEEEREE 1.060[ A 40,600 43,036] 40,600 43,036 0.000 0
B 93,548 93,548 0
B fiff 1.0 #h[X L) 93,548
EEANE 93,548
ZTDMIRE 0
data| (5#)
11
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2 21 18 Il B i 5= i
e 3471 = 0 58 EREE| 34711  |ELGHEEER
BlE&#H |EBIHAL REEZFDIER 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 0.840[ A 57,400 48,216/ 57,400 48,216 0.000 0
3|EMA R EHEEEREE 1.680] A 51,200 86,016/ 51,200 86,016 0.000 0
4|3ENB RIFZMTEHEEEREE 2.680[ A 40,600 108,808 40,600 108,808 0.000 0
5|HiEfiC R EEEREE 2.340] A 32,800 76,752| 32,800 76,752 0.000 0
6| FfiiE R EHEEEREE 2.340] A 29,000 67,860| 29,000 67,860 0.000 0
22| T RIFMTEEEREE 3.000 A 29,600 88,800 0 0 0.000 0
i 476,452 387,652 0.000 0
B 1 1.0 XHY 476,452
EEANE 387,652
ZTRMBEE 88,800

data| (5#)
11
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Sk ek ARl 3%t
M ES 2252 | = %l 58 ERES| 2252 |misnmngEE
Bima% (FTE&EHhE 1-FNo ER > £ 1.00 YE R B L #% RE e E A=
# 6 [RAEXH 5% 40 _ 1-1 1 B NERAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 2.000] A 57,400 114,800 57,400 114,800 0.000 0
3|EMA R ERAEHE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
B 206,600 206,600 0.000 0
B fiff 1.0 43y 206,600
EEANE 206,600
ZTDMIRE 0
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e 2814 | = 0 58 ERES| 2814 |BLoHEEE
Bl % RitEE 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.790] A 57,400 45,346] 57,400 45,346 0.790| 45,346
3|EMA R EHEEEREE 1460 A 51,200 74,752| 51,200 74,752 1.460| 74,752
4|3ENB RIFZMTEHEEEREE 1.460] A 40,600 59,276 40,600 59,276 1.460| 59,276
5|HiEfiC R EEEREE 1.270) A 32,800 41,656] 32,800 41,656 1.270] 41,656
6| FfiiE R EHEEEREE 22301 A 29,000 64,670| 29,000 64,670 2.230| 64,670
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
B 285,700 285,700 7.210| 285,700
B fiff 1.0 KBy 285,700
EEANE 285,700
ZTRMBE 0

data| (f&Z) {ZE+R(E)Q BHIZHEL ZEHILDMEEHLERL 1.0 LEMEIE0S5hall E1.0nazkiiE 0.0 Hhik 2 0.2
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=25 1 A B (i 3= i
e 2815 | = 0 58 ERES| 2815 |BILSHEEE
Bifa% (EABIERE 1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 1.160] A 57,400 66,584| 57,400 66,584 0.000 0
3|EMA R EHEEEREE 1.320 A 51,200 67,584| 51,200 67,584 0.000 0
4|3ENB RIFZMTEHEEEREE 1.320 A 40,600 53,592| 40,600 53,592 0.000 0
5|HiEfiC R EEEREE 0.000] A 32,800 0| 325800 0 0.000 0
6| FfiiE R EHEEEREE 0.000] A 29,000 0/ 29,000 0 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
B 187,760 187,760 0.000 0
B fiff 1.0 KBy 187,760
EEANE 187,760
ZTRMBEE 0
data| (f5%) CES RN (E)Q BERIZHEL FEMILOHESEEL 10 EEDHEAE 00 iR # 02
11
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e 2816 | = 0 58 ERES| 2816 |BILEHEEE
B {45 #4 | ERETETE 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 1.200 A 57,400 68,880| 57,400 68,880 0.000 0
3|EMA R EHEEEREE 0.000] A 51,200 0| 51,200 0 0.000 0
4|3ENB RIFZMTEHEEEREE 1.400[ A 40,600 56,840| 40,600 56,840 0.000 0
5|HiEfiC R EEEREE 1.200f A 32,800 39,360/ 32,800 39,360 0.000 0
6| FfiiE R EHEEEREE 0.000] A 29,000 0/ 29,000 0 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
B 165,080 165,080 0.000 0
B fiff 1.0 XHY 165,080
EEANE 165,080
ZTRMBEE 0

data (f&Z) {ZE,AR(E)Q EBHIZHEL WLEMmIE0Shall E1.0hakiE 00 EFDHEEE 00
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B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.670] A 57,400 38,458| 57,400 38,458 0.000 0
3|EMA R EHEEEREE 1.340 A 51,200 68,608| 51,200 68,608 0.000 0
4|3ENB RIFZMTEHEEEREE 1.340 A 40,600 54,404| 40,600 54,404 0.000 0
5|HiEfiC R EEEREE 0.000] A 32,800 0| 325800 0 0.000 0
6| FfiiE R EHEEEREE 2170 A 29,000 62,930| 29,000 62,930 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
B 224,400 224,400 0.000 0
B fiff 1.0 XHY 224,400
EEANE 224,400
ZTRMBEE 0
ds;t1a (z) IZE7N(E)Q BHRHIRHEL
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B4 | FmREER 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 0.840[ A 51,200 43,008 51,200 43,008 0.000 0
4|3 EfB R EHEEEREE 1.340 A 40,600 54,404| 40,600 54,404 0.000 0
5|3EMC RIFZMTEHEEEREE 11701 A 32,800 38,376/ 32,800 38,376 0.000 0
ez =] R EEEREE 21700 A 29,000 62,930[ 29,000 62,930 0.000 0
22|HT R EHEEEREE 2.000] A 29,600 59,200 0 0 0.000 0
i 257,918 198,718 0.000 0
B fiff 1.0 KBy 257,918
EEANE 198,718
ZTRMBEE 59,200
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data| (f&Z) {ZE~R(E)D 0.5hall E1.0hakiiE 0.0
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B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 0.920] A 51,200 47,104 51,200 47,104 0.000 0
4|3 EfB R EHEEEREE 14200 A 40,600 57,652| 40,600 57,652 0.000 0
5|3EMC RIFZMTEHEEEREE 2210 A 32,800 72,488 32,800 72,488 0.000 0
ez =] R EEEREE 22100 A 29,000 64,090[ 29,000 64,090 0.000 0
22|HT R EHEEEREE 2.000] A 29,600 59,200 0 0 0.000 0
i 300,534 241,334 0.000 0
B fiff 1.0 XHY 300,534
EEANE 241,334
ZTRMBEE 59,200
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B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | B B m | & %8 & %8 i B& | = %8
5|3%EMC RIFMTEHEEEREE 1.390 A 32,800 45,592 45,592 0.000 0
ez =] R EHEEEREE 2.390] A 29,000 69,310 69,310 0.000 0
B 114,902 114,902 0.000 0
B {f 1.0 XHY 114,902
EEANE 114,902
ZTDMIRE 0
datal (&%) {ZE~MR(LE)2 0.5hall E1.0haki 00 BEDEEE 00
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R [EliNe| 2 T 1 B & | B B m | & %8 & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.630[ A 57,400 36,162 36,162 0.000 0
4|3 EfB R EHEEEREE 1.260] A 40,600 51,156 51,156 0.000 0
B 87,318 87,318 0.000 0
B {f 1.0 XHY 87,318
EEANE 87,318
ZTDMIRE 0
datal (&%) {ZE~MR(LE)2 0.5hall E1.0haki 00 BEDEEE 00
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B {45 #4 | ERETETE 1-FNo ER > £ 1.00 YE R B L X RE e E A=
B [BEER _ _ f 3 NEEAGE B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 0150 A 57,400 8,610| 57,400 8,610 0.000 0
3|EMA R ERAEHE 0.400] A 51,200 20,480| 51,200 20,480 0.000 0
4|3ENB RIFZMTEHEEEREE 0.590] A 40,600 23,954| 40,600 23,954 0.000 0
B 53,044 53,044 0.000 0
B fiff 1.0 HEHY 53,044
EEANE 53,044
ZTDMIRE 0
data| (B%) AIUA LGEKE  EKE), ERIHL
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M ES 3041 | = %l 58 ZHREE] 3041 |[miamEEE
B4 | IRt R 1-FNo ER > £ 1.00 YE R B L #% RE e E A=
B [BEER _ _ f 3 NEEAGE B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 0.430] A 57,400 24,682] 57,400 24,682 0.430| 24,682
3|EMA R EHEEEREE 0.860] A 51,200 44,032| 51,200 44,032 0.860| 44,032
4|3ENB RIFZMTEHEEEREE 1.290] A 40,600 52,374| 40,600 52,374 1.290] 52,374
5|HiEfiC R EEEREE 0.860] A 32,800 28,208| 32,800 28,208 0.860| 28,208
B 149,296 149,296 3.440] 149,296
B fiff 1.0 43y 149,296
EEANE 149,296
ZTDMIRE 0
datal (B%) BIUA LGEKE - EKE), EFETHL
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B [BEER _ _ f 3 NEEAGE B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0190 A 57,400 10,906| 57,400 10,906 0.000 0
3|EMA R ERAEHE 0.560] A 51,200 28,672| 51,200 28,672 0.000 0
4|3ENB RIFZMTEHEEEREE 0.770] A 40,600 31,262 40,600 31,262 0.000 0
5|HiEfiC R ERAEHE 0.310] A 32,800 10,168 32,800 10,168 0.000 0
6| FfiiE R EHEEEREE 0.220] A 29,000 6,380 29,000 6,380 0.000 0
B 87,388 87,388 0.000 0
B fiff 1.0 HEHY 87,388
EEANE 87,388
ZTDMIRE 0
datal (B%) BIUA LGEKE - EKE), EFETHL
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R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 0.820[ A 51,200 41,984 51,200 41,984 0.000 0
4|3 EfB R EHEEEREE 1.250] A 40,600 50,750/ 40,600 50,750 0.000 0
5|3EMC RIFZMTEHEEEREE 2120 A 32,800 69,536/ 32,800 69,536 0.000 0
ez =] R EEEREE 2310 A 29,000 66,990[ 29,000 66,990 0.000 0
i 229,260 229,260 0.000 0
B fiff 1.0 FEY 229,260
EEANE 229,260
ZTRMBEE 0
date| (&%) BIUA LGEKE - EKE), EFIGL
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3% | BN #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
4 RIFMTEHEEEREE 0.450] A 40,600 18,270| 40,600 18,270 0.000 0
5 R ERAEHE 1.150] A 32,800 37,720/ 32,800 37,720 0.000 0
6 RIFZMTEHEEEREE 1.360] A 29,000 39,440| 29,000 39,440 0.000 0
95,430 95,430 0.000 0
B fiff 1.0 HEHY 95,430
EEANE 95,430
ZTRMBEE 0
datal (B%) BIUA LGEKE - EKE), EFETHL
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2| E{EHED RIFMTEHEEEREE 0.320 A 57,400 18,368| 57,400 18,368 0.000 0
3|EMA R EHEEEREE 0.400] A 51,200 20,480| 51,200 20,480 0.000 0
4|3ENB RIFZMTEHEEEREE 0.320[ A 40,600 12,992] 40,600 12,992 0.000 0
5|HiEfiC R EEEREE 0.210] A 32,800 6,888] 32,800 6,888 0.000 0
& 58,728 58,728 0.000
B fiff 1.0 FEY 58,728
EEANE 58,728
ZTRMBEE 0

data| (5#)
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FEHER RIFMTEHEEEREE 0.290[ A 57,400 16,646| 57,400 16,646 0.000 0
FETA R EHEEEREE 0.710 A 51,200 36,352| 51,200 36,352 0.000 0
HEnB RIFZMTEHEEEREE 1.280] A 40,600 51,968 40,600 51,968 0.000 0
HEfC R EEEREE 1470 A 32,800 48216/ 32,800 48,216 0.000 0
Bifig R EHEEEREE 14700 A 29,000 42,630| 29,000 42,630 0.000 0
i 195,812 195,812 0.000 0
B fiff 1.0 43y 195,812
EEANE 195,812
ZTRMBEE 0
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800 40,000 4,800 0.120 4,800
* 17[ B = e R EHEEEREE 0.120] A 30,700 3,684] 30,700 3,684 0.120 3,684
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.240[ A 24,200 5,808/ 24,200 5,808 0.240 5,808
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 14,292 715 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 14,292 214 0 0 0.000 0
B 15,221 14,292 0.480] 14,292
B fiff 1.0 KBy 15,221
EEANE 14,292
ZTRMBE 929
data| (f&&) ICE~R(LE)D FRER 05km3KiE 0.2 i & 00
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.360[ A 40,000 14,400| 40,000 14,400 0.240 9,600
* 17[ B = e R EHEEEREE 0.420] A 30,700 12,894 30,700 12,894 0.290 8,903
* 18[;A|ZBhF RIFZMTEHEEEREE 0570 A 29,600 16,872] 29,600 16,872 0.570| 16,872
* 19[;BI =B & R EEEREE 0570 A 24,200 13,794| 24,200 13,794 0.570 13,794
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 57,960 2,898 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 57,960 869 0 0 0.000 0
B 61,727 57,960 1.670] 49,169
B 1 1.0 XHY 61,727
EEANE 57,960
ZTRMBE 3,767
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.070] A 40,000 2,800/ 40,000 2,800 0.000 0
* 17[ B = e R EHEEEREE 0.220] A 30,700 6,754 30,700 6,754 0.120 3,684
* 18[BI=B1F RIFZMTEHEEEREE 0.440[ A 29,600 13,024] 29,600 13,024 0.240 7,104
* 19[;BI =B & R EEEREE 0.220[ A 24,200 5,324 24,200 5,324 0.220 5,324
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 27,902 1,395 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 27,902 419 0 0 0.000 0
B 29,716 27,902 0.580] 16,112
B 1 1.0 XHY 29,716
EEANE 27,902
ZTRMBE 1,814
data| (f&&) ICE~R(LE)D FRER 05km3KiE 0.2 i & 00
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R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.250[ A 40,000 10,000| 40,000 10,000 0.200 8,000
* 17[ B = e R EHEEEREE 0.410] A 30,700 12,587 30,700 12,587 0.200 6,140
* 18[BI=B1F RIFZMTEHEEEREE 0.410[ A 29,600 12,136] 29,600 12,136 0.200 5,920
* 19[;BI =B & R EEEREE 0.600[ A 24,200 14,520 24,200 14,520 0.600 14,520
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 49,243 2,462 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 49,243 739 0 0 0.000 0
B 52,444 49,243 1.200( 34,580
B fiff 1.0 XHY 52,444
EEANE 49,243
ZTRMBEE 3,201
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E {2 %5 | w4 RKA J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800/ 40,000 4,800 0.000 0
* 17[ B = e R ERAEHE 0.240] A 30,700 7,368| 30,700 7,368 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R ERAEHE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500( % 12,168 183 0 0 0.000 0
B 12,351 12,168 0.000 0
B 1 1.0 XHY 12,351
EEANE 12,168
ZTRMBE 183
ds;t1a Bg2) CEFR(E)QD EFREE 05kmXEi# -02 Z=#ERRE 10m -0.2
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=25 1 A B (i 3= ﬁﬁ%%
e 3357 | = 0 58 BRES| 3357 |BILOHEEE
HifaH (HEER 1-FNo ER > £ 1.00 YE R B L = RE e E A=
# 8 ERIER200m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800 40,000 4,800 0.120 4,800
* 17[ B = e R EHEEEREE 0.120] A 30,700 3,684] 30,700 3,684 0.120 3,684
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.240[ A 24,200 5,808/ 24,200 5,808 0.240 5,808
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 14,292 715 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 14,292 214 0 0 0.000 0
B 15,221 14,292 0.480] 14,292
B fiff 1.0 KBy 15,221
EEANE 14,292
ZTRMBEE 929
datal (E&) CE~RN(TF) ZERERE 05kmKi 02 #iR & 00
11




AR 22 {8 31| BE i =%

?f’*
e 3358 | = 0 58 BRES| 3358 |BILOHEEE
HEifia# [ESP 0 RIS 1-FNo YER D 1.00 YE R B L = RE e E A=
# 8 ERIER200m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.360[ A 40,000 14,400| 40,000 14,400 0.240 9,600
* 17[ B = e R EHEEEREE 0.420] A 30,700 12,894 30,700 12,894 0.290 8,903
* 18[;A|ZBhF RIFZMTEHEEEREE 0570 A 29,600 16,872] 29,600 16,872 0.570| 16,872
* 19[;BI =B & R EEEREE 0570 A 24,200 13,794| 24,200 13,794 0.570 13,794
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 57,960 2,898 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 57,960 869 0 0 0.000 0
B 61,727 57,960 1.670] 49,169
B 1 1.0 XHY 61,727
EEANE 57,960
ZTRMBEE 3,767
datal (E&) CE~RN(TF) ZERERE 05kmKi 02 #iR & 00
11
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e 3359 | = 0 58 BRES| 3359 |BILONEEE
B4 74 | SR = 1-FNo ER > £ 1.00 YE R B L = RE e E A=
# 8 ERIER200m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.070] A 40,000 2,800/ 40,000 2,800 0.000 0
* 17[ B = e R EHEEEREE 0.220] A 30,700 6,754 30,700 6,754 0.120 3,684
* 18[BI=B1F RIFZMTEHEEEREE 0.440[ A 29,600 13,024] 29,600 13,024 0.240 7,104
* 19[;BI =B & R EEEREE 0.220[ A 24,200 5,324 24,200 5,324 0.220 5,324
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 27,902 1,395 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 27,902 419 0 0 0.000 0
B 29,716 27,902 0.580] 16,112
B 1 1.0 XHY 29,716
EEANE 27,902
ZTRMBEE 1,814
datal (E&) CE~RN(TF) ZERERE 05kmKi 02 #iR & 00
11




= REE?
kR R E i
e 3361 | = 4l 58 ERES| 3361 |BILEMEEE
Bifi4& | fEE Y EtEn 1-FMNo ER D 1.00 1 R BT = AE ST E A E A=F-
B S [ _ _ e B NEEAHRE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* 16[B=HEh R ERAERHEE 0.300] A 40,000 12,000/ 40,000 12,000 0.250 10,000
* 178 S B Afitd R ERAEHE 0.460[ A 30,700 14,122| 30,700 14,122 0.250 7,675
* 18RI EBNF R ERAERHEE 0.460] A 29,600 13,616/ 29,600 13,616 0.250 7,400
* 19|BIEEB & R ERAEHE 0.750] A 24,200 18,150/ 24,200 18,150 0.750 18,150
501 (M HE R E X |MgLBEIcdd 388 5.000] % 57,888 2,894 0 0 0.000 0
502 | MR8 G B2 Mg LB 2584 1.500] % 57,888 868 0 0 0.000 0
g 61,650 57,888 1.500| 43,225
B fiff 1.0 Ky 61,650
EEAGE 57,888
ZTDMhIEE 3,762
data| (&) {ZTE5R(T) 1EBTIER30MLLE50mKE 0.0 %R & 0.0
11
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e 3362 | = 4l 58 B EE| 3362 |BLAMEEE
Bl&# | FaRERA J1-FNo ER D 1.00 1 R BT = AE ST E A E A=F-
B & _ _ 1% - NEEAE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* 16[B=HEh R ERAERHEE 0.120] A 40,000 4,800/ 40,000 4,800 0.000 0
* 178 S B Afitd R ERAEHE 0.240[ A 30,700 7,368 30,700 7,368 0.000 0
* 18RI EBNF R ERAERHEE 0.000[ A 29,600 0| 29,600 0 0.000 0
* 19|BIEEB & R ERAEHE 0.000] A 24,200 ol 24200 0 0.000 0
501 (M HE R E X |MgLBEIcdd 388 1.500] % 12,168 183 0 0 0.000 0
g 12,351 12,168 0.000 0
B {f 1.0 KLY 12,351
EEAGE 12,168
ZTDMhIEE 183
datd (52) CEZRA(TF) EREROSkmEKRD -0.2 Z=#EfkE10m -0.2
11
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e 3450 | = 0 58 BRES| 3450 |BILOHEEE
HifaH (HEER 1-FNo YER D 1.00 YE R B L = RE e E A=
# & [ILEE150.54ha _ _ 1 B NERAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.650] A 40,000 26,000/ 40,000 26,000 0.650| 26,000
* 17[ B = e R EHEEEREE 0.650] A 30,700 19,955/ 30,700 19,955 0.650| 19,955
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 1.300] A 24,200 31,460/ 24,200 31,460 1.300/ 31,460
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 77,415 3,871 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 77,415 1,161 0 0 0.000 0
B 82,447 77,415 2.600 77,415
B 1 1.0 XHY 82,447
EEANE 77,415
ZTRMBE 5,032

data (%2) B~ AN(E)Q WEEMmE 05~10hakiEm 0.2 FRIEEFTEI~28Ffr -02 ik 0.2
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e 3451 | = 0 58 EREE| 3451 |ELGMEEER
Hifa# {ZEELUETFEmis J1-FNo ER > £ 1.00 YE R BT = AE e E A=
# & [ILEE150.54ha _ _ 1 B NERAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.540] A 40,000 21,600/ 40,000 21,600 0.000 0
* 17[ B = e R ERAEHE 24301 A 30,700 74,601| 30,700 74,601 1.620] 49,734
* 18[BI=B1F RIFZMTEHEEEREE 24301 A 29,600 71,928 29,600 71,928 1.620] 47,952
* 19 2B E R3FMMTERERLE 4.860] A 24,200 117,612] 24,200 117,612 4.860] 117,612
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 285,741 14,287 0 0 0.000 0
502 | MR B CRB L) Mg LEIcmT 284 1.500 % 285,741 4,286 0 0 0.000 0
B 304,314 285,741 8.100] 215,298
B {f 1.0 XHY 304,314
EEANE 285,741
ZTRMBE 18,573

data (%2) B~ AN(E)Q WEEMmE 05~10hakiEm 0.2 FRIEEFTEI~28Ffr -02 ik 0.2
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e 3452 | = 0 58 BRES| 3452 |BLOMEEE
B H A F (4525 L RSt 1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & [HEMTEERS0m _ _ . 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.080] A 40,000 3,200/ 40,000 3,200 0.000 0
* 17[ B = e R EHEEEREE 0.640| A 30,700 19,648 30,700 19,648 0.480| 14,736
* 18[BI=B1F RIFZMTEHEEEREE 1.160] A 29,600 34,336] 29,600 34,336 0.960| 28416
* 19[;BI =B & R EEEREE 1.060] A 24,200 25,652 24,200 25,652 1.060| 25,652
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 82,836 4,142 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 82,836 1,243 0 0 0.000 0
B 88,221 82,836 2.500] 68,804
B fiff 1.0 XHY 88,221
EEANE 82,836
ZTRMBE 5,385
data (%) IZE~#A(L)D ik 2 0.2
11
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e 3453 | = 0 58 BRES| 3453 |BLOMEEE
Hifa % {ZELEERE = 1-FNo ER > £ 1.00 YE R B L = RE e E A=
B 5 |fEMEetain _ _ e B NEEAHRE B o= [[REesRONES)
R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 1.760] A 40,000 70,400/ 40,000 70,400 1.760] 70,400
* 17[ B = e R EHEEEREE 2480 A 30,700 76,136| 30,700 76,136 1.760| 54,032
* 18[BI=B1F RIFZMTEHEEEREE 4240 A 29,600 125,504 29,600 125,504 3.520| 104,192
* 19[;BI =B & R EEEREE 3520 A 24,200 85,184 24,200 85,184 3.520| 85,184
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 357,224 17,861 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 357,224 5,358 0 0 0.000 0
B 380,443 357,224 10.560 313,808
B fiff 1.0 XHY 380,443
EEANE 357,224
ZTRMBEE 23,219
data (f&&) IZE~R(LE)Q #EETIERSOmEK -0.1 #hik 2 0.2
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e 3454 | = 0 58 BRES| 3454 |BILOHEEE
E {2 %5 | w4 RKA J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.160[ A 40,000 6,400/ 40,000 6,400 0.000 0
* 17[ B = e R ERAEHE 0.320] A 30,700 9,824| 30,700 9,824 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R ERAEHE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500] % 16,224 243 0 0 0.000 0
B 16,467 16,224 0.000 0
B 1 1.0 XHY 16,467
EEANE 16,224
ZTRMBE 243
data| (f&2) CTE~R(E)2 ILEMETE 0.3hall E0.6hakiis 00 ZH=#xEfmiom -0.2
11




AR 22 {8 31| BE i =%

e 3460 | = 0 58 BRES| 3460 |BLOHEEE
E {4 %5 | R {ERKB J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.400] A 40,000 16,000] 40,000 16,000 0.000 0
* 17[ B = e R ERAEHE 0.800] A 30,700 24,560/ 30,700 24,560 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R ERAEHE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500] % 40,560 608 0 0 0.000 0
B 41,168 40,560 0.000 0
B {f 1.0 XHY 41,168
EEANE 40,560
ZTRMBE 608
date (5Z) CESR(LE)D IWEETE 0.3haklE0.6haskid 00 ZFH=#RfEfm5m 0.0
11




